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ECONOMICS
( Major )
Paper : 6.1

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer-either in English or in Assamese

1. Answer the following questions : 1x7=7
et A eppTEd T o :

{a) What is incremental budget?

343 s 2

(b) Give an example of neutral tax.

s $9 9o S fran

fc) Write the meaning of canon of equity as a
characteristic of good tax system.

Taq 39 IR I oo wer M7
forgr 1

(d) State one objective of fiscal policy.
IR ST 61 Sy Sray 401
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(2)

(e) Write the meaning of federal finance.

e Req e foran )

() What is relative taxable capacity?
et 9 o Tl 0

(g) Write one limitation of federal finance
system in India.

SR TEa2d R IegR b1 el &1 |

2. Answer the following questions : 2x4=8
(a) What do you mean by tax credit?
39 o et & g ?

(b) Mention two factors responsible for low
level of taxable capacity in
underdeveloped countries.

S (PPZS N T oM WAOR AT S
o1 ST SCEY 91 |

{c) Write a brief note on Goods and Services
Tax (GST).
A S GRT F99 901 55 CBIl 27 |

(d) Define government budget.
SR RO ke e |
3. Answer any three of the following questions :
5x3=15
were frar R e iAot epR Taw fore

(a) Discuss the recommendations of 14th
Finance Commission of India.

SReAEd TP R SICIH R Seae 31 |
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(b)

(c)

(d)

(e)

(3)

Discuss briefly the relative superiority of
indirect taxes over direct taxes.

AT FISL AT 9 ACHFS TePES TR
A 340 |

“Expenditure is a better index of ability to
pay than income.” Analyze.

‘el 9 I o MLR o BT 1
Roma w311

Distinguish between horizontal and
vertical fiscal imbalance. Write down one
purpose of tax sharing in fiscal
federalism.

A F ToT9 ISR O TS 14
(74T | TSP IEER ITES T TR

Sewe ot 1
Discuss about the benefit principle of

taxation.
3 RYA e Ky e 34 |

4. Answer any three of the following questions :

were fia R e fofb e Tes fordn

(a)

8A/846

10x3=30

Explain the various types of government
budget. Briefly discuss about the
economic classification of government
budget. 6+4=10

591 AT A ez A 0 1 HIRA
MG AT AP Raea SRR A
1 |
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(4)

(b) Distinguish between progressive and
proportional - taxes. Consider their
advantages and limitations. 6+4=10
TREE TF OWMT I AW AL
cryed | BrRe SR s SRmerTR. R
KAl

(c) Classify impact, shifting and incidence of
tax. Explain the concept of forward and
backward shifting of tax. 6+4=10
T IS, APRT SF SASH CAeaT 341 |
I SN ARE PO PR {RACHT 70
1 ‘

(d) What do you understand by taxable
capacity? On what factors does it

depend? 4+6=10
39 e e & q@ 2 2R R T e
== 2

(e} Discuss the ability to pay theory of tax.
What are its merits and demerits? 10
39 oW AN D Wees I 1 WH 89
& TR 2

(/ What do you mean by fiscal policy?
Explain the role of fiscal policy in

developing countries, 2+8=10
AN S P B g TN @S
Y NS P M0 3947 1

* d ok
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